
Top Chrono entrainement - CM1

Multiplication et division par 10

59 × 10 = ___ 560 × 10 = ___ 200 ÷ 10 = ___ 630 ÷ 10 = ___
63 × 10 = ___ 590 × 10 = ___ 500 ÷ 10 = ___ 350 ÷ 10 = ___
71 × 10 = ___ 253 × 10 = ___ 900 ÷ 10 = ___ 770 ÷ 10 = ___
96 × 10 = ___ 823 × 10 = ___ 100 ÷ 10 = ___ 390 ÷ 10 = ___
57 × 10 = ___ 942 × 10 = ___ 100 ÷ 10 = ___ 830 ÷ 10 = ___
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Multiplication et division par 10

59 × 10 = 590 560 × 10 = 200 ÷ 10 = 20 630 ÷ 10 = 63
63 × 10 = 630 590 × 10 = 500 ÷ 10 = 50 350 ÷ 10 = 35
71 × 10 = 710 253 × 10 = 900 ÷ 10 = 90 770 ÷ 10 = 77
96 × 10 = 960 823 × 10 = 100 ÷ 10 = 10 390 ÷ 10 = 39
57 × 10 = 570 942 × 10 = 100 ÷ 10 = 10 830 ÷ 10 = 83
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5 600
5 900
2 530
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